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But higher than ten, everyone agrees that he is "1ub.

OVERVIEW

One of the M771n of 7R¥IT NIXRDA is VW - passing. VW is the act of passing an
object from one °"77 to an adjacent "7, when both "7 are on the same side of a
7"77, and the space between the two °"737 is a 7"77. For example two adjacent
porches - that are not touching each other - that protrude over the street, and the
space between them is over a 7"77.

The wwin 77210 was in the wn.” There were four wagons that were used to
transport the 2°w7p of the jown. These four wagons, when they were to be loaded
by the 0%, were in the 2"717 in a specific manner. The wagons faced the flow of
traffic, two wagons on the left side of the street one in front of the other in the
direction of traffic, and the other two parallel to them on their right also facing the
direction of traffic one in front of the other. Like two double parked cars.

The o7 picked up the o>w1p from the 2"70, were they were lying behind the
wagons, and placed them first on the rear wagon(s), the one(s) closest to them.
(This is where we find 710157 in the 1own, the 0% picking up the 2°w1p from the
7"77 and placing them on the wagons, which is a *"77. Each wagon was ten 2mov
high and more than o°r5v '7 % '7 in area, which renders it a >"777.)

Once the rear wagon was loaded, the 0% loaded the front wagon from the rear
wagon, passing the o°w9p from the rear wagon to the wagon in front of it. The
w1 were never passed to the wagon parallel to it, only to the one in front. The
owap were always passed hand to hand from one wagon to the next, never
thrown.” Each wagon as mentioned was a >"777, and when the "% passed the board
from one wagon to the one in front he passed it from a *"737 to a °"77 over a 1"77,
which is the small area between the wagons.

The X3 discusses whether throwing 2"717 7977 °"7% 2" P is also 21, because
we derive it from 4U’Wm, or it is MWy, because in the 1DW» there was only v and
not P, and LXWAN P 9D RY.

" This, and the following three Moo on this Ty are referencing the X3 on 'a 7y '7 q7.

2 See vwd "7 X ,2'00 that by nR¥17 NOX91 even the M721N are required to be in the 1own.

? Either not to break them P17 "7 2,7 "W, or because they were too heavy 7ow 1"7 X,1¥ ¥"w, etc.
* See following X2°py *277 1"7 'o0
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Our MooIn discusses what is the 17 if the act of v*w over the 1"717 occurred at a
height of less than ten 2°mov high from the street level’. In the jown the act of wwn
was above ten 2°119v high, because the wagons themselves were ten 2°1190 high. The
question is, do we derive a vw that is less than ten 2°19v high, from the jown
where v was above ten 2°19v high and he is 21, or do we assume that we
cannot derive it and he 1s Mw>.

- 5% NVRY MY 2N VIYINT ININ *NYD NNy Y

We can partially prove from this statement of 77127 that one who is w2 from a

"7 to a "7 through a 71"77, less than ten o°1ov high from the floor of the 7"77, is
997 -

= 75 NVNY VIYIN 1VNI 1NN RIY IV 919D NSNN ONY

For if you will say that he is 915, because we do not find in the 2w a case of

vornn less than ten o°mov high, then there is a difficulty, namely -
- TDwinm PN 1929957 290 90 927 51 NYUNY TAN NOD NIY |3 ONT

for if this is so that LW is “» 7unY MW, so 721 should have said here that if
however the object was thrown above ten 2’190, everyone agrees that he is 21,
because we derive the case of P97 (throwing an object from a "7 to a *"mn

through a "“» 171%¥1% 1"79) from WM, that just like v>win is 20 higher than 0M5v » s0 too
is 1. What compelled 1727 to say that M9 9577 °127 “n 177919, when 727 could just as well have
said 21 957 °127 "» 19¥n% 92K, and nothing would be affected. This is a valid question (and
difficulty) if we would assume that v is "1 7Un? MWD -

= 29N D51 9927 790 NHYND 919913Y 281 XY IN /90 NVNY 29N VIVINT NNY JAN

However if we are now willing to assume what N800 is setting out to prove,
namely that v is 21 [even] "» munb, we can well understand why 7727
concludes VIR P 119099 K27 MWD "7 "n 9N, because if VWA is n TunRb 20m,
then it is well understood that 727 cannot say that p717 higher than ten 2,

everyone says that the P77 is 2997, because we derive p11 from v wn -
= PPV VO NPYL NN 791 NVNY 19 ONY

For if the foregoing is true that we derive P17 from v in a case of higher than
ten 2°19Y, that he is 21, what is the reason that the 021 say that a *"777 pav

1 Un? "0 707 "% is MWB, he should be 21 even if they do not hold of 7v19p, he should
be 21 by "» aunh P because we derive it from vWI, just as we derive it by "n 7%ynb.

> See “Thinking it over’ #3.
% See “Thinking it over # 1.
7 See ‘Thinking it over # 2.
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Therefore 7127 must conclude LMD PAT 129990 R2T MWD "7 "1 79vn? 92K, so we understand why
the °»on say that "“» mun% Pr is M., even though VWA is “» vnY 21, because the o°mon (and
¥"7) maintain that we do not derive L@ P71 neither " 77Un? nor "n TYvAL.

mooINn continues to explain himself, why he initially stated that it is only a partial proof; implying
that it is not a conclusive proof.

- VIUNN P 1Y N1AYY S9195T 993915 2893 YT NI 1IN 1771999
However it is not a conclusive proof that 0w is "» 7on? 21, for the X113 could
not have said that everyone holds that we derive 2917 from w2 2. This question,
“why 127 did not actually say v winn P 997 20 "7 i 7°vnh 9aR”, formed the basis of
moon proof that v Wwn is “n nvn? 2>mn; however there is another explanation why 727 could not
have said it (even if we maintain 7 is " VN2 WD) -
- 772950 VIYNY NV PN HNN XOPTA 1NV PN (xy) PN INPY N1 XN )9 ONT
For if 7127 would say so (that v wimn P79 ¥"d), we would have a difficulty,
from that which learnt in a 71w» in P27 P79, “If both porches were on the
same side of the 71"777, one that throws it from one porch to the other, passing over
the 7", is M2, but the one who passes it from one porch to the other is 291 -

= 1199995 JNNAN VIYINMD PN 199D XY NNIDN

It is evident that this 71w» ond maintains that we do not derive wwnan P93, so if
1727 here was to conclude v w7 P 11°99°7 2017 17" 1 79¥nY HaR, then the question

would arise, who would be the author of the mwn in p17, since we would have said
here, that everyone agrees that we do derive vwyan 1, that would be in direct contradiction to
the 771wn in 7117 which clearly maintains that we do not derive v wnn PIIT.

In conclusion: the reason why 7127 did not say v wmn pr 197> 210 7"7 " A2Yn? YaR, is not
because we are concerned why then do the £°non maintain that "» 7vn2 he is Mo (when they
should have said that he is 2’1, since we are deriving vw1n pIY), thereby proving that v is
7 mun? 2n, for in reality we can maintain that v>w is “» nun? Mo, and the reason 1727 did not
say 21 1"7 "n 7%yn? 22K is because it would be in direct contradiction to the 7awn in P17 which
maintains that vWwn PIT 1997 KXo,

mooIn proves his point:
- 7510 NVAY 295N VIYINT K13 533 53 N7 “y1n

I will prove it to you so you will know that the reason the X123 did not say 22X
2 "7 1 7%vnY, has nothing to do whether v is " 7un? 21 or not, for even if

we would assume that v is '35 un® 27 -
- VYYINN PIT 1Y RIAYY NDIDYT 999915 S8 1N

¥ See “Thinking it over # 4.
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The X713 still could have said that everyone agrees that we derive wswinn pavs,
and there would be no problem why the %317 hold that ™» 7un? P71 is MWd, for since we derive
v wan 21, he should be 2°°1; this is no question because in truth -
- 290 Y57 5937 51 NYYRY 11 73 NVNRY A HNN XOVPTI)
For if the np172nn was discussing a case where the two *";17 were on the same side
of the 72"77, then the 17 would be (even) according to the o121 whether it passed
over the 71"77 below ten 0°15Y or above ten 0°19Y, in either case everyone would
agree that he is 23991, because we derive vwwn P7r; the reason the onon argue and say that
he is 7wy is because -
=7 199 132 /919 NVNIY XYY
They are arguing in a case where he was P77 below ten 2’n5¥ where the two
"1 were not adjacent to each other, but one opposite the other, in such a case we
cannot derive vwn P, because v A itself is only DR XY1°72 2°°17 and not 17 72313 1712, and their
argument is -
= 1359N ND 920 9199 "7 ANNAY 295 NVITP 139919N 920 1Y
That one master — X2°pY °27 — maintains that we say %7 rw "2 v and
he is 21 because of 2'"';1°% "% IR, and the other masters - the o°on —

maintain that we do not say *»7 annaw *n3 nv1%p, and therefore he is Mws.

It is evident that even if we maintain that v is "» 7vn% 2>, we still would have been able to
say WWMN P 0°7 21 1", and there would be no difficulty of explaining why the 1127 are
1 un e, for the nPY?nn between 31271 ¥ would be in a case of 11 7312 1, where wwa itself
is Mwd, and therefore the 0°non can maintain that 2"77 777 °"77% *"79n Pr is Mo, because they
do not hold of 7%, and PN VWA are both "n VA% MWD (and "» 79¥7nY) in a case of 7 7AW, If
so, why then did the X3 have to say v wInn P 1199 R2T MWD "7 "1 7912 a8, when we could
have said just as well that v wyan P 30997 211 5277 17"7? The answer is -

- 9?‘11?11‘1 1PHINN DIYN VIYINN PN 199D NDY NJIITT 9139190 81 NDT NON
for the X3 could not have said that everyone agrees that we derive P9
wawInn, because even though we would not have the problem of "» fvn? par as
explained above, nevertheless 727 does not say v Wwyan Pt 11099, because of the

mawn in PR which states clearly that 2"77 777 277 "% PO is MWD and LW is 270, SO
how can we say here that everybody agrees that P71 is 0W¥an PT 19777 ,2°7.
$991 VP NYT 999V 903 FNN TNV VIV INIDY

And according to what we will shortly explain'® there is also another good

? From the (1" 2™ naw ">71) 0"an17 Pw when he is discussing the 2111 of v>wn, where he says a2yn? LW 270K"
7"77 Ry, and from the 177X ¥"W NS (in " 7°Yo 1w D), where he states concerning the 211 of vwa that he is
"3wYn Aoy XIw 8"YR" 270, it seems that they maintain that v>wn is "*n A2 2%,

10 1087 71" 710; see TIE footnote # 9.
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reason that 7127 does not say it in this manner, i.e. that P77 11997 20 "7 “n 79w
liratatal

SUMMARY

mooIn initially proved that vwww is ™» 7wn? 2»n from the fact that 720
concluded v wInn P 1°9%° KP7 MWD 7"7 n 7%9nY DaX, instead of saying 2Yn? HaR
VWA P 99907 2 17 ", because if we would say the latter we would have the
problem why the 0°non maintain M5 by "“» nun? P11, However '01n concludes that
in reality there would be no difficulty if 727 would conclude 2»n 73"7 "n %915,
because the np12mn is 17 72310 113, and therefore the real reason why the X713 does not
say 21 1"7 "n n%ynY, is in order not to contradict the 7awn in P17, which states
clearly that mw»s P,

THINKING IT OVER

1. mooIn begins by saying, we can partially prove that “» un> 270 wwmn;'' later
mooin refutes his proof. What was m»ooin thinking in the beginning; if he knew of
the refutation, then there is no proof at all, and if not, why is it only a partial
proof?'?

2. mooIn bases his proof on the issue why 7727 said M5 "“»n 75%vn%, when he could
have said 211 "n .753]73’7;13 granted that 727 could have said either one, but he chose
one, so what is the ‘Proof’?!'*

3. mooin is discussing whether "» fun wwin is 21 or Mwa."” How is it possible to
be a "“n vnb VWK, since you are in a *"717 which by definition has walls or a height
of ten o°rov (like the wagons in the 19wn), so when you extend your hand from the
"7, you are automatically " 799197

4. In Mmoo refutation of the proof there are two parts: one begins 1M1 71K 1),
(because of the 71wn in P7117) and later M90IN says Y70 (because of 17 7210 1).'° How

' See footnote # 6.

12 See wox nmIn.

13 See footnote # 7.

' See TIE 1m&7 "7 'o1n, “Thinking it over’ # 4.
15 See footnote # 5.

16 See footnote # 8.
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does one distinguish between these two aspects of Nnoon refutation? (Why is one
referred to as 11217 71K 17°1), and the other as ¥7n?)

5. We can seemingly prove that v is " nun? 21, from the second option of
727, that the npY?nn is “n 7%9n% (whether v wIRn PIT 13999°), however 73"7 » un>
21 since M7 ANNAWY °»d 709P. Seemingly (if v is i YN MWL), 127 could have
concluded Mws 7"7 "n "un? 2R for we do not say "3 7vop. However if we
maintain that “»n nvn? v is 27, then it is understood why 7727 could not
conclude that 709 73"7 "»n 7on?, for even if we maintain 121 W7 7V17p, nevertheless
according to ¥"1 he will be "»» 7vn? 21 since ¥"1 maintains ©Wyan P ]J’D’?’.”

6. Moo argues that if VW is "1 7VAY NV why did not 727 say 1"7 " 7PYA? AR
VWA P 02>7 20, If 7129 would have said it this way (assuming that vw3 is
7 un? W), it would turn out that that (» 77¥1n%) P is more similar to VWA
("n 77ynY), that "n [un? VWY is similar to "» 9% VWM, for we do derive P
(" 12¥n?) vwn but we do not derive ("1 Tun?) VWM from (1 7731%) VWM. This
logic that P77 is more similar to vwn than “» 79y to ™» nun? is inconsistent. For
according to the conclusion that v is “» 7vn? 21 and everyone maintains that
0D " 9YNY? because WIWIAN P 11970 K2, we see that " un? is more similar to
“n vy (since YW is "1 Vn? 20) than P is to WM (for P 71990 RY YD
wwinn).' What is mooin proof?!"”

"7 See X"wn.

'8 Alternately if wwm is "» on? Mwd (since we cannot derive » qun? from "» 79¥n?), then we definitely cannot
derive LR PT!

" See X"y 1 and FnnT X,
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